VCE & PDF https://www.passapply.com/c2090-012.html
2024 Latest passapply C2090-012 PDF and VCE dumps Download

PassApply.com

C2090-0120%As

IBM SPSS Modeler Data Analysis for Business Partners v2

Pass IBM C2090-012 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.passapply.com/c2090-012.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

@ After Purchase

@ Guarantee

© Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

C2090-012 PDF Dumps | C2090-012 Practice Test | C2090-012 Study Guide 1/5


https://www.passapply.com/c2090-012.html
https://www.passapply.com/c2090-012.html
https://www.passapply.com/c2090-012.html

VCE & PDF https://www.passapply.com/c2090-012.html
2024 Latest passapply C2090-012 PDF and VCE dumps Download
PassApply.com

QUESTION 1

Examine the Data Audit output shown below.

& Data Audit of [14 Felds] -

-
Gl agat Oomeme (@|C[Hl= W @]
Ay Qually | Annotabons
Complete fields (3&) |BS5T1% Complete records (%), [96.57% |

Field Measurement Outilers Exremes  Action | Impute ML. MWethod % Complets Vaiif

[A] ACCOM @5 Nominal - i Mever Fized 100
(Al COUNTRY & Nominal - = Mever Fixed 100
[A] CUSTID @5 Nominal = o Hever Fired 100
|a] DIST_TO_BE . & Continuous 1 0 None Never Fixed 100
A] DOB @ Mominal - - Mever Fixed 100
s GENDER &5 Mominal iz ain Hewver Fined 98.681
HOLCODE @b Mominal - amin Hever Fined 100
{7 HOLCOST __|#” Conlinuous g 1 Dlscard Hever Fixad §7.889
[A] NAME @b Mominal - _— Mever Flrad 100
[A] NIGHTS £° Confinusus 1 0 hullify hever Fixed 100
[A] NUMP2ARTY Continuous G 0 None Hevar Fiiad 100
[A] PCOL Flag - - Hever Fixed 100
A] REGION Mominal - - Mever Fixad 100
. TRAVDATE g’ Nominal - - Mever Fixad 100

e — L

What action will occur in a generated Outlier and Extreme Super node for HOLCOST?
A. Nine records will be set to the system missing (null) value for HOLCOST.

B. Ten records will be deleted.

C. Ten records will be set to the system missing (null) value for HOLCOST.

D. Nine records will be deleted

Correct Answer: B

QUESTION 2

What new value will be assigned to the original value Low given the specifications in the Reclassify node below?
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@lld)

@ Single O Multiple
Reclassifyinto. @ New Beld () Exsting Reld

Recassdy feld

Hew field name.

[Pmmt_mm

Redassily values.

Mo Income

Forunspecified values use. 8 Onginal value O Defaull value

Lok J [conce) Lgpwts | |_Bosn]

A -1

.

B.2
C.3
D.4

Correct Answer: B

QUESTION 3

Only Terminal nodes (Graphs, Modeling, Output, Export) have a Run button as displayed in the graphic.
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Highlight records where

ok |[® Run | cancel| | Appy || Reset

A. True

B. False

Correct Answer: A

QUESTION 4

Which node is used to read data from a comma delimited text file?
A. Var. File

B. Data Collection

C. Fixed File

D. Statistics File

Correct Answer: A

QUESTION 5

Which method would be used on the Merge node in order to combine a file containing 100 products and a file containing
50 suppliers and retain only the matching records?
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A. Inner join

B. Anti-join

C. Full outer join
D. Partial outer join

Correct Answer: A
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